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Directions: Type your responses in the space provided. Be concise. Remember to save throughout so you don’t lose any of your work. Save the file as lastname.firstname.chp16.RG. When you have finished, upload this document to your Google Drive and share it with me at wchs.ap.economics@gmail.com.
Section 16.1: What is Monopolistic Competition (pp 408-412)

1. Identify the four primary characteristics of a monopolistically competitive firm.
[insert answer here]
2. Explain the three implications of having a large number of firms in the market.
[insert answer here]
3. Define the term “product differentiation.” When firms differentiate their products, it allows them to compete with other firms in what three areas?
[insert answer here]
4. What causes a monopolistically competitive firm to have a downward sloping demand curve?
[insert answer here]
5. Can monopolistically competitive firms earn an economic profit in the long run? Explain.
[insert answer here]
***Skim the remainder of this section, but you will not need to know how to calculate either of the concentration ratios that are discussed. This is not tested on the AP exam.

Section 16.2: Output and Price Decisions (pp 414-418)
6. Will monopolistically competitive firms earn an economic loss in the long run? Explain.
[insert answer here]
7. With monopolistically competitive firms, economic profit encourages entry, which decreases which curve, demand or supply, for each firm’s product?
[insert answer here]
8. Define the term “productive efficiency” (aka efficient scale).
[insert answer here]
9. Define the term “excess capacity.” Then, indicate whether perfectly competitive firms or monopolistically competitive firms have excess capacity.
[insert answer here]
10. Does monopolistic competition create deadweight loss?
[insert answer here]
Section 16.3: Product Development and Marketing (pp 420-425)
11. When firms advertise, what direction does the average total cost curve change? How does the demand curve change?
[insert answer here]
